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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1.~ Choose the right answer : 1x10=10
wa ©eI! AR Sfee s
() Market capitalisation is a measure of—
TG TR FeSie @t ARme 5
(a) wealth created by equity
2320 GO T T
(b) share price indicator of the equity

AfSORIBI SIR¥IoIgd & S5

Contd.



(ii)

(iii)

(c) market price indicator of the
securities

sAfoeioq TGN T o

(d) cost of equity as compared to
market price of the equity

23207 @I LIS oS 230 &
S[&T) .
Cost of preference' share is
faFE SRH T
(a) treated for tax
IEEE RSN
(b) mnot treateq for tax
| OEE ARY®
(c) only occasionally treated for tax

(d) None of the above
Qo] bIe 72

Internal rate of return is the discount .

rate of which—

SefEsd IR 29 25 A0 YT TO—
(@) NPV > O

(b) NPV < O
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(iv)

(v)

(c) NPV = 0

(d) None of the above
879 oIS 72

Current assets are twice the current
liabilities. If working capital is
Rs. 20,000, current assets would be

5eTe Tl et (MIF q2ed 2 | I HwS]

IEEE 20,000 G T, (S0F bfeto Fifes
sfEae 29

(@ Rs. 10,000 (50,000 51)
(b) Rs. 40,000 (80,000 Gl)
(c) Rs. 80,000 (vo,000 GF)
(d) Rs. 20,000 (20,000 GF)

Profit maximisation ignores
o7® IR S92 TFCE

(a) wealth
™o

(b) time value of money
T AR 3

(c) net value
SP 3T

(d) None of the above
\G2[Eg «bI8
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(v

(vii)

(viii) When profitability index exceeds one,

The net working capital is the excess
of current assets over current liabilities.

oipo DRI A A blere (IS @i
pleTe Fifes sl | '
(@ True (i)

(b) False (Gm)

In respect of raising finance from new
issue market, companies are prohibited
from issuing shares at a discount
except in the case of issue of sweat
equity shares.

o JETE IS A, (36 220 (S A=,
S (R @HAE (2R S AT FE
@[

(@) True (1)
(b) False (Fm)

the proposal is rejected.

@ profitability index @39 @2FS =

cofom| el 2= 91 7= |
(@ True ()
(b) False (")

4 (Sem-5/CBCS) COM HC2 (FoRM)/G 4

(ix) When the company pays dividend in'
the form of bond, it is called property
 dividend. |
A @R To9 Too aTejiss fiew, cefom
©IF A>ie sepical [@Ie |
| (@) True (1)
(b) False (f=)

(x) The profitability index or benefit cost
ratio is the relation between the present
value of future net cash flow and the
initial cash outlay.

CRACS 2117 57911 &S Folw £ SR N S
o [T TR 2 A e qp
(Pl=i2.) 5 e g8 Sigeite (Rbs9) |

(@) True (361)

(b) False (f9)

| 2. Answer the following questions in about
1 . S50 words each : 2x5=10

| AN eprzs efoi e 506! 30 =7 fowgs
| - forar 8

(a) State the objectives of wealth
maximisation.

T SHFeNSS Sol B 4 |
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(b)

)

(d)

(e)

State the meaning of EPS.
EPSF 91 Sz <41 |

State the meaning of Internal Rate of
Return.

e SRE 2s] 9 52
What is stock diyidend?
B erolieHl 52

What is cash management?

5 ~Af<oie /52

Answer the following questions within
150-200 words each : (any four) 5x4=20

e empres afSiN 8ed 150-20051 =%
foose ol ¢ (Riepreat 51961

(@)

(b)

()

Define opportunity cost of capital. How
is it computed ?
Opportunity cost of capital § ¥iges! 21|

Distinguish between financial leverage
and operating leverage.

e TreiEs oiE 9AIED: FeiEes arenEm
iGEO

State the limitations of financial
management.

RSl e ARTorRE S =1 |
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(@)

(e)

Discuss the use of internal rate of
return (IRR). '

SR SFE 2T IR NN T |

State the circumstances which
warrants issue of bonus shares.

& & AR @e 9ica & w1 <
29 T 41 |

Examine the importance of accounts
receivables management.

2li=l] f2piel ARDIERIY e e |

Answer any three of the following questions
in about 600 words each : 10x3=30

o [Ieplzel fofdb) %R 2t diF 6006! i
*jarq fSogwe o2l 2 :

(9

(b)

Discuss the scope and objectives of
financial management.

ey RPN #FHT S S itET Seen
E T

Discuss modern methods of capital
budgeting. :

SETE SO SNIYfE AFH SR D]
ESl
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(c)

(@)

(e

Define working capital. What
considerations are taken into account
in estlmatmg the amount of working
capital requirements in a newly started
company ? : 2+8=10

PIAFS e et fgil | 9 R Bre
TR 1w Fed T B 7 R

RIS T3

Elaborate the determinants of capital
structure of a corporate entity and the
benefits of a balanced capital structure.

6+4=10

WWW&WWWWWW

@R <23 G o Se JEaE

oMol Soipifel |

“Elaborate Modigliani and Miller

hypothesis of dividend decisions.
Examine its validity.

STojisH oqeg Praies cFae Modigliani I/
Miller § 419919 {0z SNcaTb= 91 | 2009 %=
SRSl RrsEe <54 |

ABC Ltd. is consideriﬁg an investment

proposal to install a new industrial
mixer at a cost of Rs. 10,00,000. The

facility has a life expectancy of 5 years-

and has no salvage value.
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The estimated revenue before
depreciation and taxes from the
investment are as follows :

Year S Expected Revenue
(before depreciation and Tax)
(Rs)
2,00,000
2,20,000
2,50,000
2,60,000
3,00,000

ol B~ 0 b =

If tax rate is 30% p.a. and the company
uses straight line method for

depreciation—

(i) determine the cash flows after
taxes but before depreciaticn ;

| (ii) calculate the Net Present Value

(NPV) of the investment at 10%
discount rate ;

(iii) comment whether to proposal
should be accepted “or not.

[The present value of Re. 1 at 10%
discount rate (PVIF) for S years are
respectively 0909, 0-:826, 0-751, 0-683
and 0-621] S 1= 110)
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ABC FiRIi5% 10,00,000 5l RS <1 ge ' (iii) B! ST T (7 TR OF 8o[w

TSl e giom sREe 95 [ S SCBH | | :

- [epAl SR witz| 97 FRAGE 5 2w 95 [10 =i¥! A1 29© 5 TN 1 BB I8
SR QRASE SR, S 23 @I Skers I T 0:909, 0-826, 0-751, 0-683 H=
1 3 ¢ 0:621]

9 9IS SEES 6 S SRR e |
T «<ef=
= Sl S
(ST I 99 Slofe)
oy
1 2,00,000
2 2,20,000
3 2,50,000
4 2,60,000 ‘ |
5 3,00,000 | |
3t 3 2 T2 30 XK S A

SRS A FEGERE AR IR FE—

(i) 'me%@wﬁﬁwﬁm
Tfened ;

(i) 10 =eiex AT Z=© [ECAEIGHE z@—
TG T oA 4 ;
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